COP 3223 Section 1 Exam #1

Form A

Fall 2004

10/7/04

Lecturer: Arup Guha

Directions: Answer all multiple choice questions on the scantron. Each question has a single correct answer. In case of ambiguities, choose the most accurate answer. Each of these questions is worth 3 points for a correct answer. Incorrect answers and questions left blank are worth 0 points. Place your answer for each short answer question and each program on the answer sheet given to you. The point values for these questions are denoted on the answer sheet. Partial credit will only be given on the short answer section and the programs. Hand in ONLY the scantron and answer sheet.

1) What is the value of the variable sum after the following segment of

code is executed?


int a=3, b=6, sum;


b = 3*a-(5-b);


sum = a+b;

A)11

B)12

C)13

D)14

E)None of the Above

2) Which of the following is not a keyword in C?

A)double

B)void

C)x

D)break

E)None of the Above

3) How should the if statement below be changed to prevent a possible

run-time error?


if ((y1-y2)/(x2-x1) > 0)


  printf("Positive slope!\n");

A)if (y1/x1 > 0)

B)if ((x2 == x1) || (y1-y2)/(x2-x1) > 0)

C)if ((x2 != x1) || (y1-y2)/(x2-x1) > 0)

D)if ((x2 != x1) && (y1-y2)/(x2-x1) > 0)

E)None of the Above

4) What is the output of the following code segment?


int a=6, b=4;


if (b = 0)


  printf("One\n");


else if (a = 2)


  printf("Two\n");


else if (a*b/5 > 4)


  printf("Three\n");


else


  printf("Four\n");

A)One

B)Two

C)Three

D)Four

E)None of the Above

5) What is the output of the following code segment?


int b=1;


if (b == 0)


  printf("One");


  printf("Two");


if (b > 0)


  printf("Three");


else if (b < 0)


  printf("Four");

A)Three

B)ThreeFour

C)TwoThreeFour

D)OneTwoThree

E)None of the Above

6) What is the output of the following code segment?


int a=6, b=4;


if (3*b%a < 0)


  printf("One\n");


else if (a*b%8 > 0)


  printf("Two\n");


else if (a*b/5 > 4)


  printf("Three\n");


else


  printf("Four\n");

A)One

B)Two

C)Three

D)Four

E)None of the Above

7) What is the output of the following code segment?


int val=3, num=8;


int *p, *q;


p = &val;


*p = 2;


q = p;


num = *p;


*q = 5;

 
printf("val=%d,num=%d,*p=%d,*q=%d\n",val,num,*p,*q);

A)val=3,num=8,*p=2,*q=5

B)val=5,num=2,*p=2,*q=5

C)val=5,num=2,*p=5,*q=5

D)val=5,num=2,*p=2,*q=2

E)None of the Above

8) What is the value of the variable sum after the following segment of

code is executed?


int a=9, b=8, sum;


b = 3*a%(b-4);


sum = a+b;

A)11

B)12

C)13

D)14

E)None of the Above

9) What is the output on the following line of code?

  
printf("Hello\\t\n");

A)Hello

B)Hello\\t\n

C)Hello\\t

D)Hello\t

E)None of the Above

10) What is the value of the variable sum after the following segment of code is executed?


int a=9, b=8, sum;


b = 3*a/(b-4);


sum = a+b;

A)13

B)14.25

C)15

D)15.75

E)None of the Above

11) What is the output of the following code segment?


int start, end=10;


for (start=0; start<end; start++) {

  
  printf(start);


  if (start < 5)


    break;


}

 
printf("\n");

A)0

B)1

C)01234

D)012345

E)None of the Above

12) What is the output of the following code segment?


int start, end=10;


for (start=0; start<end; start++) {

  
  printf(start);


  if (start%2 == 0)


    continue;


  start++;


}

 
printf("\n");

A)0123456789

B)02468

C)13579

D)123456789

E)None of the Above

13) Which of the following keywords can be used to define a constant?

A)#include

B)#define

C)int 

D)double

E)None of the Above

14) What is the output of the following code segment?


int i,j=0;


for (i=1;i<5;i++) {


  j = 2*j+i;


}


printf("i=%d,j=%d\n",i,j);

A)i=4,j=16

B)i=4,j=26

C)i=5,j=16

D)i=5,j=26

E)None of the Above

15) Which of the following expressions is equal to a random integer

in between 25 and 37, inclusive?

A)rand()

B)rand()%38

C)25+rand()%12

D)25+rand()%13

E)None of the Above

16) What is the output of the following code segment?


int mon=3, day=8;


if (mon > 4)


  if (day < 15)


    printf("Late");


else


  printf("Early");

A)EarlyLate

B)Late

C)Early

D)LateEarly

E)None of the Above

17) What is the output of the following code segment?


int a=6, b=4;


if (b == 0);

  
  printf("One");


if (a == 6)


  printf("Two");


if (a*b/7 < 4)


  printf("Three");


else


  printf("Four");

A)Two

B)TwoThree

C)OneTwo

D)OneTwoThree

E)None of the Above

18) What is the output of the following code segment?


int a=2,b=0;


while (a < 10) {


  b = b + a;


  a = a + 2;


}


printf("a=%d,b=%d\n",a,b);

A)a=9,b=0

B)a=9,b=20

C)a=10,b=20

D)a=10,b=30

E)None of the Above

19) What type of error is committed in the line below? (Note: Answer

with the first choice that applies. So if the error is both a

compilation error and a logical error, answer A.)


scanf("%d", length);

A)compilation error

B)run-time error

C)logical error

D)wrong function is used

E)None of the Above

20) Which of the following choices correctly reads in an value into the

integer variable number?

A)scanf(number);

B)scanf("%lf",number);

C)scanf("%d",number);

D)scanf("%lf",&number);

E)None of the Above
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1) (15 pts) Write a program that computes and prints out the property tax for a rectangular lot. In particular, you must ask the user for the length and width of the lot in feet. The standard property tax is 50 cents per square foot. However, if one dimension is greater than twice the other dimension (ie. if the length is 60 feet but the width is only 25 feet) an extra tax of $100.00 is levied on the property. (In this example, the area of the lot is 1500 square feet, so the standard tax is $750.00, but since 60>2(25), an extra $100 is added so the total tax is $850.00.) A code skeleton has been provided for you below. Your program should print out the property tax based on the dimensions of the property the user enters. Declare any extra variables you need at the beginning of main.

#include <stdio.h>

#define COST_PER_SQFT 0.50

int main(void) {

  int length, width;

  printf("Enter the length and width of the lot.\n");

  scanf("%d%d", &length, &width);

  return 0;

}
2) (25 pts) If a ball is dropped from a building of height h feet, then the height of that ball (in feet) t seconds after the ball has been dropped can be expressed as f(t) = h – 16t2. Write a program that asks the user for the height of the building that the ball is being dropped from and prints out a chart listing how many feet above the ground the ball is at each second. The chart should stop after the last line that prints a non-negative value for the height of the ball. Here is an example of the chart your program should produce for h=116 (Note: the t=3 line doesn’t print since 116-16(3)2 = -28 < 0.):

t=0
h=116

t=1
h=100

t=2 
h=52

#include <stdio.h>

#include <math.h>

#define HALF_ACC 16

int main(void) {

  int height, time=0, cur_height;

  printf("Enter the height of the building in feet.\n");

  scanf("%d", &height);

  return 0;  

}
